(IR SE - 246

Second Semester B.Com. Degree Examination, September 2020
Paper — 2.6 : QUANTITATIVE ANALYSIS FOR BUSINESS DECISIONS - |
(CBCS) (Fresh + Repeaters) (2014-15 & Onwards)

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be either in English or Kannada.

SECTION - A

Answer any five sub-questions from this Section. Each sub-question carries two
marks. (5%x2=10)

1. a) Define statistics as per Prof. Horace Secrist.
b) Find the value of median when X = 24.6, Mode(z) = 26.1.
c) What is a histogram ?
d) If variance = 64, Ex =250, N =10 find CV.
e) Why Fisher’s formula of Index number is called ideal ?
f) What is base year ?
g) Define tabulation.

SECTION - B
Answer any three of the following. Each question carries six marks. (3x6=18)

2. In a sample study about the traders in two towns. The following information
was observed.

Town X = 60% male

30% traders

25% male traders
TownY = 50% male

35% traders

28% male traders
Present the above data in a tabular form.

3. Find range and co-efficient of range.
cClL : 1012 12-14  14-16 16-18 18-20
F 3 4 9 16 2

P.T.O.
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4.

Compute the median of the following data. 80
Xmorethan : 10 20 30 40 50 60 70 A
Frequencies : 115 103 88 68 43 23 13

Compute mean deviation and co-efficient of mean deviation from the mean.
X: 68 49 32 21 54 38 59 66 41

6. The mean and standard deviation of two brands of bulbs are given below.
Brand X Y
Mean life 2000 hrs 1640 hrs
Standard deviation 200 hrs 130 hrs
Which category of bulbs has more consistency in its life ?
SECTION-C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7.

10.

11.

Draw a histogram from the following data and locate mode graphically.
C.l. : 100-104 105-109 110-114  115-119 120-124
F 12 9 15 8 4

. Calculate arithmetic mean and mode of the following data.

Wages (3): 10 20 30 40 50 60 70 80
Less than

F : 5 13 20 32 60 80 90 100
Determine the Fisher's ideal index and show how it satisfies the TRT and FRT.
2018 2019
Commodities Price Quantity Price Quantity
A 21 15 20 17
B 70 10 75 12
C 60 14 62 15
D 32 10 30 10
E 36 12 38 8

Compute Karl Pearson’s co-efficient of skewness from the following data :

Marks : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90
No. of

Students : 4 10 21 32 15 13 5 7 3

Compute quartile deviation and its co-efficient from the following datg -
X :10-12 12-14 14-16 16-18 18-20 20-22
F : 4 14 26 31 25 19
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B3 QLIINOOT FINT OINRJ)TTTIR 2T emd-@’%r{@ﬁ V30N, T YV~ g’éj QTT e203MED.
(5%x2=10)

1. a) Bp . BRTe" Ae8 A TR0 FOLTYTIRT 339,30, IS BRR.
b) X =24.6, Z = 26.1 &3 &3>53,08 (Median) 3 30@E&R0000.
C) ©033283, 0TI ?
d) WBwT ¥ =64, Ex =250, N = 10 &5mon 303030 IBMOET ), ?
e) QRO"TRT RY 08 R0, AT, LVZ 0T DF BEFONT 2
. f) esoodm=me (base year) 20T338e30 9
g) Roszy @S (tabulation) &9, 559R%.

QTN — W
83 39N CIRTYTTTS SR JIMen wvgor. B3 BI6 wosnivd. (3x6=18)

2. 0> Bepondd) e s mURd A0t ot o0 8 Seior woBned BRI,
SupX = 60% DR
30% O
25% RTOR RTON
SupY = 50% Sous
35% sREoned
28% U O
@ 50038 wosnd sms sbed Roan B4 3RA0.

3. 89N TFo3nven wm (Range) =8y #W{mﬁd;’% FOT0EBEIOND.

C.l : 10-12 12-14  14-16 16-18 18-20
F : 3 4 9 16 2
4. 39N TIoINPoT 053,08 (Median)ssmy 508 EOD.
Xx’éoé £z$% : 10 20 30 40 50 60 70 80
Haﬁdé (F) : 115 103 88 68 43 23 13 3

5. 83 39508 BéEc0n FopRd NBOF (Mean deviation) &) ABTOEIBRR, B0IRO

TH2030000 TorIRRBOWD.
X: 68 49 32 21 54 38 59 66 41
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6. 0@ IO BNFEINY, W N RO FFy TR o33 (S. Deviation)
BRBEING. O35 0T 030Y, LT Fed) BRI BT ?

St X Y
ROORO e:sod)#% 2000 not3 1640 ros3
SNIT D3OI 200 not3 130 not3
PN - 2
83 39NT CARTYTRTT BT BINOT €VZ0R. B FIKK 14 08nsd. (3x14=42)
7. &TE88 TSR, BRB WBOUE (Mode)ass) rOTHA.
st o o ‘s)
C.l - 100-104 105109  110-114  115-119  120-124 v, ]
F : 12 9 15 8 4

8. 33 39N BH03NV0T 903N KTIRO (Mean) =03 u&@éﬁ%}aﬁa‘* FoBI&HEOWD.
8O ()33 eas: 10 20 30 40 50 60 70 80
33 (F) : 5 13 20 32 60 80 90 100

9. 85 39NT TWRO0T STO'S STBF AL 08B FoRLROWD. e5Td ert TRT &3 FRT
BOEBRY), BHTRPRTHORD ERedA.

2018 2019

Sonied 33 IRro S5 R
R 21 15 20 17
2 70 10 75 12
A 60 14 62 15 ,
a 32 10 30 10 ®
Q 36 12 38 8

10. 83 39NS T20BRPOT T FLAODTTRT S ROFOD ARNIEIBRT), FOBEROWO.
eosnsb :  0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90

DTRENY
‘ ﬁoa."{’s : 4 10 21 32 15 13 5 7 3
11. 83 39S BR&SCWOT 13BFF 8 N13VSoDI) (Quartile Deviation) 202 &
RBOEFBR), BOREBOWD.
X :10-12 12-14 14-16 16-18 18-20 20-22
Fisz, 4 14 26 31 25 19




